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26.

27.

28.

29.

SECTION - II
MATHEMATICS

The ratio of supplementary angle and complementary angle of a given angle is
8:3. Then what will be the ratio of given angle with its supplementary angle?

(1) 4:1 2) 1:3
3) L4 4) 1:2

What is the cost of fencing a circular garden of radius 28 m with five rounds
of wire, if the wire costs Rs. 50 per m?

s. 45, s. 46,
(1) Rs. 45,000 2) Rs. 46,000
(3) Rs. 44,000 (4) Rs. 50,000
— 2’ Y -
( 3y ) = ? (Choose two correct options)

_8yS —2x°
() o) @ 55

— 8x° —8x°%y?
() 4 =57

The average of 10 numbers is 20. Out of which the average of first 6 numbers
is 15. The average of last 3 numbers is 16 then what will be the seventh
number?

1) 72 2) 62
(3) 52 4) 60

SPACE FOR ROUGH WORK
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-~
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(1) 72 (2) 62

(3) 52 (4) 60
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30. What is the sum of additive inverse of (5a — 3b) and additive inverse of

(—6a + 2b)
(1) a+b 2) a-0»b
(3) —a+b 4) —a-b

31. Which of the following statement is wrong?
(A) If a number is divisible by 2 and 5 then it is also divisible by 10.
(B) The numbers divisible by 6 are also divisible by 2 and 3.
(C) The numbers divisible by 7 are odd.

(D) 1, 2, 3, 6 are common factors of all the numbers divisible by 6.

(1) A 2) B
3) C 4 D

32.  Which of the following statement is not true? (Choose two correct options)
(A) The opposite angles of a parallelogram are congruent.
(B) The adjacent sides of a parallelogram are congruent.
(C) The diagonals of a parallelogram are congruent.

(D) The diagonals of a parallelogram bisect each other.

(1) statement A (2) statement B
(3) statement C (4) statement D

SPACE FOR ROUGH WORK
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33. The length of a cuboidal tank is one and half time its breadth and height is
twice the length. If volume of the tank is 4500 cubic metre then what is the
height of tank? (Choose two correct options)

(1) 10 m. (2) 3000 cm
(3) 30 m. (4) 1000 cm

34. If the diameter of a wheel of a tractor is 1.4 m. then how much distance is
covered by the wheel in 400 complete rotation.
(1) 1.66 km (2) 1.56 km
(3) 1.76 km (4) 1.86 km

35. In the adjoining fig. line / || line m || line » and line x and line y are their
transversals. If AB = 18 cm, BC = 30 cm, QR = 21 c¢cm then PR = ?

N
B/ \Q

m
C R

\ n

(1) 84 cm (2) 147 cm

(3) 12.6 cm (4) 33.6 cm

36. If a number is divided by 18 then the remainder is 1, if it is divided by 24
then the remainder is 7 and if it is divided by 36 then the remainder is 19.
What is the smallest such type of number?
(1) 91 2) 71
3) 79 (4) 55

SPACE FOR ROUGH WORK
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034.

03S.

036.

wis doirasi 2isldl donst, dedl udisddl €lzan ozedl 9 wid GRS,
dolsfell oHQll 9. d 2isld adsn 4500 adHlz Sl dl 2isldl Gl widl.

(1) 10 «l (2) 3000 =l
(3) 30 Hl (4) 1000 4l
wis 2522l Usiddl A 1.44HL 9. 21 U§ 400 22l R AR 529 vidR s1ua?
(1) 1.66 (5.4l (2) 1.56(5.4l.
(3) 1.76[s.4L (4) 1.86[s.4L

ollogell BUS[AHL 20l 7 || 0 m || vl n B, WAL x A WLy dusdl Sles

Y oY

9. o4 AB = 1834l, BC = 30%4l, QR = 214, dl PR = ?

N
B/ \Q

S e
[

n

(1) 8.4 =l (2) 14.7 sl
(3) 12.6 =l (4) 33.6 =l

of AvAld 18 93 MRl d4¥ 1 a8 9, 24 a8 PRIl AN 7 a8 9 wid 36
3 MPRIEAL 44 19 a8 9 widl Al didl 2dvar 557

(1) 91 (2) 71

(3) 79 (4) 55
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37.

38.

39.

40.

41.

Which polynomial should be substracted from the polynomial 7x2 — 2x + 4 to
get the polynomial 10x2 + 5?

(1) 3x2 +2x + 1 2) 3x2-2x -1
(3) 3x% - 2x + 1 (4) 3x2+2x — 1
V1.96 —2.25 +/2.89 )

/0.000256 '
(1) 102 2) 103
(3) 1072 4) 1073

Pradnya has exactly same number of Rs. 2 coins and Rs. 5 coins. She has a
total amount of Rs. 196 then how many coins of Rs. 5 she has?

(1) 28 (2) 56

(3) 35 4) 14

Two angles of measure 40° and 140° with different vertex are drawn then which
of the following statement is true?

(1) The given angles are supplementary angles.

(2) The given angles are linear pair of angles.

(3) The given angles are vertically opposite angles.

(4) The given angles are adjacent angles.

The co-ordinate of point P on a number line is —~. The distance between
point P and point Q is 2 units then what will be the co-ordinate of point Q?
(Choose two correct options)

1y =L @
3 @ =

SPACE FOR ROUGH WORK
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037. 7x2 — 2x + 4 21 ogudluidl 58 agudl oue sl 1062 + 5 B ogudl

Yy ?
(1) 3% + 2x + 1
3) 3yt — 2 + 1
(3)

038.  /1.96— /2.25 +/2.89
0.000256

(1) 10?
(3) 1072

(2)
(4)

= o4l ?

(2)
(4)

32— 2 — 1
3 + 2% — 1
103
1073

039. yal wA 2 3. Al oedl Risst 8 dzdl o S 3 Al 9. ddl w54 196 3.
9. dl oddl wd 5 3. dl sedl (s eu?

(1) 28
(3) 35

(2)
(4)

040.  40° 244 140° Hudl [Geed [RI[G1F €U Al

sl ) [Ad A =9l?
(1) d yrs sl .
(3) d =il™sig .

041.

(2)
(4)

56
14

c S

ol vl il 9 dl d e <l

YRusiel 9.

VY AeASIOU 69,

ar v

dvaivl W P [oigdl [z _73 9. [0l P vd Q a2 »ldz 2 BisH ¥

dl Q [ogdl [qgas 52dl? (o« i ude )

(1) 5"

11
7

—
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42.

43.

44.

45.

46.

The radius of a circle with centre 'O' is 10 cm. The length of a chord is
16 cm. Find the distance of the chord from the centre of the circle.

(1) 6 cm (2) 5 cm

(3) 8 cm (4) 26 cm

A hall has length 30 meter and breadth 9.5 m. For flooring this hall, the square
tiles are to be used of half meter side then how many tiles should be required?

(1) 1240 (2) 1140
(3) 1340 4) 1150

Ajay scored 25% marks less than Balbir. Then Balbir scored how much
percentage of marks more than Ajay?

1) 10 @ 1§
1

(3) 25 4 333

The sides forming right angle of a right angled triangle are 8§ cm and 15 cm
then what is radius of circumcircle of that triangle?

(1) 8.5 cm (2) 9.5 cm
(3) 13 cm (4) 17 cm

If the side of an equilateral triangle is 18 cm then what is its area?

(1) 81 sq.cm. (2) 8043 sq.cm.

3) 823 sg.cm. 4) 8143 sq.cm.

SPACE FOR ROUGH WORK
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042.

043.

044.

045.

046.

O sesdlon adadl Bloal 10 44l 9. d adaui 16 a4l dolddl wad sexell
v %247

(1) 6 =+l (2) 5 =+l

(3) 8 il (4) 26 <l

w5 doARUSR URRLeAl donsd 30 2R vt ugionsd 9.5 Hlex 8. 241 URICHI
Yo Hl2z ollsy ¢ld ddl aAlRzsR gl olsaidl 9 dl wudl Sedl aiElsil oasa?
(1) 1240 (2) 1140
(3) 1340 (4) 1150

vogd ool 52l 25% 291 UL Heul dl odollRe wovd sl s2dl 2sl
QLAY HeyL?
1
(1) 10 (2) 11§
1
(3) 25 (4) 333
s 5125190 Bslomi s1eviell otdiadl olsysll 8 dHl A 15 dHl 9 dl d
st ukadadl Biean $2dl?
(1) 8.5 =l (2) 9.5 =l
(3) 13 =l (4) 17 =l
Ay [Asiaedl ousy 18 @l 9 dl dd sz s24q?
(1) 81 =il (2) 80y3 il
(3) 823 =uiHl (4) 8143 =L+l
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47.

48.

49.

50.

51.

The rate of tickets of a bus are increased by 20%. After six months, the rate
of tickets again increased by 10% then what is the percentage increase in the
original rate of tickets.

(1) 30% 2) 32%
(3) 25% 4) 35%

A merchant purchased 25 dozen oranges at the rate of Rs. 25 per dozen. He
sold all oranges at the rate of Rs. 32 per dozen. Then how much percentage
of profit did he get?

(1) 25 2) 32
(3) 28 4) 7

A rope of length 216 m. is cut at five places at same distance then what is
the length of each piece in cm?

(1) 360 cm (2) 3600 cm
(3) 36 cm (4) 36000 cm
Which of the following term should be added so that the expression 49x2+%
will be a perfect square? (Choose two correct options)

12 112
Ol ) *
(3) -36xy ) %
628x3.14 . (3.147 _

042 T 12.56
M 3 2) 0.6
3) 1.3 @ 5

SPACE FOR ROUGH WORK
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047.

048.

049.

050.

051.

-~

ol [25l2dl el 20% Al aarRl 2, 9 Hledl u”l g=ldl Rsledl emi 10%
Al Q4RI 2L dl YO ML Sedl 251 AHUIRL 2UL?
(1) 30% (2) 32%
(3) 25% (4) 35%

wis QURlBL 25 3. SRl MId 25 s AdRl dlil A ol 2dRl 32 3. $oesdl
cud 9l €l dl odd 32l 251 «gl uul?

(1) 25 (2) 32

(3) 28 (4) 7

216 Hlez dioll €ild 2urid 2idR 5 2519 sl dl 25 2561l donsS sear =l
29l ?

(1) 360 «dl (2) 3600 =+l
(3) 36 =l (4) 36000 =l
64

49x'+75 @A yol-adl ol w2 ) ue GHg usdl?

(ol i i wdl.)

112x “112x
(1) = (2) —
(3) —36x (4) 3F
6.28x3.14 . (3.147 _ -
o4 T 1256 - A
(1) 3 (2) 0.6
8
(3) 1.3 (4) 3
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52.  The number of girls of 8t standard A division in a school at Beed is 5 more
than half the number of boys. If total number of students in that division is
65 then how many girls are there in that division?
(1) 20 (2) 30
() 25 (4) 40

53.  Which of the following statement is correct?

(A) The number +% is to the right side of the number %on the number
line.

(B) The number % is to the left of zero.

(C) The numbers —% and % are to the left of zero on the number line.
(D) The number —% i1s to right of the number % on the number line.
(1) statement A (2) statement B
(3) statement C (4) statement D
4. 75 x75-T7x75+35x35 _
7.5 - 3.5 '
(1) 3 2) 4
3) 5 4 2

55. The difference between sum of three consecutive prime numbers before 50 and
after 50 is completely divisible by which of the following?

(A) 2 B) 3 € 4 (D) 7
(1) only by A and B (2) only by C and D
(3) only by A and D (4) By A, B and D

SPACE FOR ROUGH WORK
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052.

053.

054.

05s5.

‘ofl” mealdl w5 woudi ARk 8 Al Avll A Wi istluiidl vl isRiiedl
dudldl 2ictEl 5 oay 9. d Aeldi [Qzeliidl sa dval 65 €M dl dui
9islotidl v dedl ed?

(1) 20 (2) 30

(3) 25 (4) 40

dlFddl Ul U [Ata 1?

) dual vl W % L Hul % il duidl orHull oty 9.
e
3

vl dual geudl stoll ooyl 69,

—

(=t
(o1) =vul il W
(

5) dudl vl W 1—34 wid % L ol VAL Yeuedl sloll olsypl 9.
(¢) =vurul W % L vl % Al ornull ousy .
(1) [aenq (1) (2) [atnq (o)
(3) [atq (s) (4) [atq (¢)
75 x 75 -7 x 75435 X35 4,00
75 - 3.5
(1) 3 (2) 4
(3) s (4) 2

50 <l uddi shadl AQl sy Yo Avaldl wRANl vid ugldl wuadl e
sMs YO HvuRldl HRAOL 92l dslddd 585 dval 98 [d: AN @eL ord ?

(»1) 2 () 3 (s) 4 (¢) 7
(1) g W vid ‘o’ a3 (2) g5d s w4 ¢ A
(3) g o’ wd ¢ A (4) 21, of »id ‘¢°
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56. What is the degree of product of polynomials x> — 2x2 — 1 and x — x2 ?

(1) 4 @ s
(3) 3 4) 6
A R0 SR
Wl x (af+vx
(1) Vx 2 1
3) «x @) x>

58. A vehicle covers a distance of 42 km in one hour. Then how much distance
will it cover at the same speed in 20 minutes?
(1) 21 km (2) 840 m.
(3) 14 km (4) 20 km

59.  Which of the following are the factors of polynomial (2x — 5)3 — 64 ?
(1) 22x — 9) (2x% — 6x + 21)
(2) (2x — 5) (4x? — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21)
(4) (2x + 9) (4x% + 12x + 21)

60. Santoshrao deposited Rs. 2,10,000 in bank for 5 years at simple interest. After
the end of period, he received Rs. 3,36,000 from the bank. Then what was
the rate of interest?

(1) 11% 2) 10%
3) 12% 4) 14%

SPACE FOR ROUGH WORK
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056. > — 2% — 1 id x — x? U oted GAGUElAL IARQUSRAL Bld $24ll?

(1) 4 (2) 5

(3) 3 (4) 6
057. l

RN SR

(rF < () +

(1) Vx (2) 1

(3) x (4) X3

Y N

058. o5 onugl s sausui 42 Bl 2idz s1d 9 dl der 92El d ougl 20 [Mlaswi
524 »idR slug?

(1) 21 (sl (2) 840 4l

(3) 14 [s4l (4) 20 [s4l
059. (2x — 5)% — 64 U ogueldl vaudl <lAdl U5l su?

(1) 2(2x = 9) (2x* — 6x + 21)

(2) (2x = 5) (4x* = 12x + 21)

(3) (2x — 9) (4x* — 12x + 21)

(4) (2x + 9) (4x* + 12x + 21)

060. 2idin 214 2,10,000 3. AUEL Y S M HI2 AL HEdA 2id dud 3,36,000
3. Houl dl edlor<ll €2 gidl.
(1) 11% (2) 10%

(3) 12% (4) 14%
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61. The ages of 60 children in a class are given in the frequency distribution table
below. From this, find their mean age.

Age (in years) 12 13 14 15
No. of children 13 12 21 14
(1) 15 years (2) 13.6 years
(3) 13 years (4) 14.5 years

62. The curved surface area of a cone is 47.10 sq.cm. If radius of the base is
3 cm then what is its perpendicular height? (n =3.14 cm)

(1) 3 cm (2) 4 cm
(3) 5 cm (4) 157 cm

63. How many coins of thickness 0.2 cm and diameter 4 cm will be formed by
melting a solid metallic cuboid of length 22 cm, breadth 18 cm and height

6 cm?
(1) 935 (2) 954
(3) 594 (4) 945

64. The area of a square is 4.41 sq.cm., then what is its perimeter?
(1) 42 cm (2) 104 cm
(3) 8.8 cm (4) 84 cm

SPACE FOR ROUGH WORK
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061.

062.

063.

064.

haY ~

wis @idl 60 [([dznelliidl GHR ditld dladl 2iafd [aer sisl dur sl 9.
A weEl addl GWedl wzl il

G2 (sl ardwi) 12 13 14 15
[qenelldl 2iva 13 12 21 14
(1) 15 ad (2) 13.6 ad
(3) 13 ad (4) 145 ad

s dgd Asyresa 47.10 ARHL 9. ddl wadl Bsen 3 @l €l dloaddl
doGie sedl ea?

(1) 3 sl (2) 4 w8l

(3) 5 <+l (4) 15.7 =8l

22 ¥l aiotl, 18 @Hl uglol vid 6 Wl Gl gl s doad dlouald
avidl [ssl odlaal w2 0.2 dHl oagle wuid 4 Wl cwm ¢l adl dedl
Ascloll duR 49 ?

(1) 935 (2) 954

(3) 594 (4) 945

wis ARUG Az 4.41 AGHL 9. dl adl uRMa sedl?

(1) 4.2 =+l (2) 10.4 =8l

(3) 8.8 «Hl (4) 8.4 =+l
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65S.

66.

67.

68.

69.

The base radius of a cylindrical tank is 28 cm. It contains water. A metal
cuboid of length 44 cm, breadth 14 cm and height 8 cm is dropped into it.
Then what is the increase in the level of water in tank?

(1) 2 cm (2) 2.5 cm

3) 3 cm (4) 1.5 cm

The length of side of a rhombus is 17 cm. If the length of one diagonal is
16 cm then what is the length of other diagonal?

(1) 30 cm (2) 17 cm

3) 8 cm (4) 34 cm

The population of a town was 75000. This population is increased by 10%
next year. After that year, the population decreased by 8%. In the third year
the population is increased by 5% then at the end of third year, what will be
the population?

(1) 935550 (2) 78000

(3) 79695 (4) 77950

Ashok sold the necklace worth Rs. 15,00,000 at 20% profit. How much amount
Ashok will get?

(1) Rs. 1,12,000 (2) Rs. 18,00,000

(3) Rs. 17,00,000 (4) Rs. 16,00,000

The measures of exterior angles of a triangle are 115° and 117° respectively,
then which type of triangle is it?

(1) Acute angled triangle (2) Obtuse angled triangle

(3) Right angled triangle (4) Equilateral triangle

SPACE FOR ROUGH WORK
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065.

066.

067.

068.

069.

wis AousR sisldl wadl Bloal 28 dHl 9 i uwll ek 9. dui 44 sl
dioll, 14 aHl ugial 24 8 dl GRL el R dotad Al dlusi
wlldl Gl 32edl a9 ?

(1) 2 =4l (2) 2.5 =l

(3) 3 =+l (4) 1.5 =+l

17 a4l ooyl dHesy AQsiAl vis [Aseldl donsd 16 a4l ¢lu dl olloa
[Asuidl dousd 3eell ed?

(1) 30 =l (2) 17 =4l

(3) 8 =l (4) 34 =l

wis adzedl dls vl 75,000 9. o/ uddl ¥ 10% 4l w4 oflsa ad 8%
wiggl 1. 50 HAlog ad 5% adl dl ddloa add wid dissivar dedl ¢d?

(1) 935550 (2) 78000

(3) 79695 (4) 77950

N

wels 3. 15,00,000 Hi viledl ¢R ss 20 Al gl Al A2l dlodd Sedl
RH HY?

(1) 1,12,000 3. (2) 18,00,000 3.

(3) 17,00,000 3. (4) 16,00,000 3.

is [R5l ol ollérsigidl HIU g5 115° 24 117° 89 dl d Bsia sa
usiRel [Asi9l ¢9?

(1) agsivl @sial (2) s sl

(3) sestor Bsia (4) audsr [AsivL
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70.

71.

72.

73.

The length of a diagonal of a square is 11 cm then what is the length of its
side?

(1) 11 cm (2) 11y2cm
(3) 5.5/2cm (4) 7J/2cm
3.9% of 1530 = ? (Choose two correct options.)

(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

The measure of a minor arc is 160° then what is the measure of corresponding

major arc?
(1) 160° (2) 320°
(3) 200° 4) 80°

A shopkeeper gives 12% discount on the printed price of a mobile. He sold
a mobile for Rs. 26,400. What was its printed price?

(1) Rs. 30,000 (2) Rs. 32,000
(3) Rs. 26,412 (4) Rs. 3,000

SPACE FOR ROUGH WORK
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N

070. s ARl [Asldl donsd 11 Al 8 dl dsdl ousy<ll dousS 24l?
(1) 11 =l (2) 1142 =+l
(3) 5.5/2 «dl (4) 7v2 =l

071. 1530 <l 3.9% = %edl? (ol Rl i Havil.)
(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

-~

072. s agaud HIU 160° 89 dl dd 2old d3dud, HIU 524 ?
(1) 160° (2) 320°
(3) 200° (4) 80°

Y A Y

073. 25 gsiaer Hioudadl oudl BHd uw 12% 92 20U 9. dul s Hielda
3. 26,400 Hi d2dl dl d«dl omdl Bua sedl ea?

(1) 30,000 3. (2) 32,000 3.
(3) 26,412 3. (4) 3,000 3.
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Instruction for Question No. 74 & 75

In the following joint bar graph, the number of boys and girls in divisions A,
B, C, D of 8™ standard are given. Observe the joint bar graph and answer
the following questions.

e |
- |Scale: OnY - Axis | cm = 10 boys/girls
1 boys E= girls
m591, ....... -
,,,,,,,, E.4() s e ot i 7_ o
iy flmi Z
WESYSE Z Z Z z
o 2V 2 2
= o
7 N PO
G 5 5 ;31 O

74.  What is the total number of students in all four divisions of 8" standard?
(1) 255 (2) 300
(3) 200 (4) 355

75.  What is the ratio of number of boys with number of girls in B division?
(1) 6:7 (2) 7:6
(3) 56 (4) 6:5

SPACE FOR ROUGH WORK
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. 5. 74 i 75 HIZ YUl -
0L 8 <l 2l A, B, C, D Hi 9531 2d 99istlodiedl vl lAdl sdszdeiduini
galdl 8 dq [lawr 3, <dlRidl usdidl sralel quil.

L Y e e 1ol = 10 st il
S YY) =222 Y1
zn | il
AAAAAAAAAA §49
? han B Z
R Z
& = I
,,,,, % .20 > ] /. % % FET} EEIR] DASE] REEE 190 IRER)
51[\ |
:‘LU .
0 A B G
PEERRbLEE L

074. 4ol 8 Al ARy Avildl Holld 54 seal [Gzueli 97
(1) 255 (2) 300
(3) 200 (4) 355

075. B> ayglluidl 9zl i istldidl vl opslidr Sedl?
(1) 6:7 (2) 7:6
(3) 5:6 (4) 6:5
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B XL 3 2L XL 3 AL AR 2L AP 3B 2P 240 Y
FCHFC R XRC TR RS FHIRC RS XS I HIC HRC AR H
B 3 XAb X0 XA AL AL 3B XAb AP AR AL 3B x4

SPACE FOR ROUGH WORK

FCHIFCHIRC AR IR HRS HIRC IR X A A HRC HCH

32 0f 32
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